IF@,J E»ijé—

%‘#L-ﬁ -
P B F (50 4)

’f*f‘ > 258 # 2R S H-FHRH

FEDN- B
'gmgi THE2L (f > 3 F)de o
2% 054 -

i 3%
§RE? 2B &L bt 0 BRI
Pé-&gélxrgﬂ’l%“*k\o

LV

%n&‘g,.,,

wwmm%
PR B i
\-u‘\_ ™ \-u‘\_ yﬁn
?“"V“urﬁ:-

BE S SR ) chdcit > T oG vR— BB IR AR ?
(1) PLEERY

(B) "= £ 25eh3 i B 5 = & 25 it AL b

(C) #-3 Ap$HfLens BREE iE4pid > LR E ot fiphL 2
(D) 7 - & #2 LR

0. 454686x0. 528465=
(A) 0.242856369
(B) 0.2428563699
(C) 0.24028563699
(D) 0.240285643699

© e B e g 910 R
(A) 87
(B) 91
(C) 148
(D) 178

S SR

FOOE KRR GBS A A2 RIS Ll% ERE S PN
%?mQLFZ%Wﬂ”&¥§§%+m¢$K;¢£?
(A) 12800
(B) 20000
(C) 32768
(D) 51200

BB AT 600 4 4e B A HeR] 0 AEREIE 3B B 84%
¥4 950 4 > B ET0% BT 4 iEF
(A) 70%
(B) 84%
(©) 94%
(D) 98%

—HE D2 ~F 102

EA R B EAPAR: s T wg ) it

50T 3 9

(A) 750

(B) 1550

(C) 3750

(D) 4500

Tom 8- BAEP A oA * 1000—220x(6+2)E N E X ?

(A) ¥r2 8 fr+ &% {220 2 A cnm® > 45455 7 1000 =
Aim o BB kRSt BHT 50 DA himis 9

(B) - 4F W 2 1 220 ~ - 4545+ 1000 ~ F 7 6 & 4% »
TUHw F A9

(C) - &= F"6¥g 220 ~ > ¢
Mw f a9

(D) - #1000 ~ » 2 iE @4 220 ~ o

§ 141000 ~F 1 2"

_ s}

45T

“E18FERE

R R = A T R

8.

10.

11.

12,

13.

’ﬁ??iﬁﬁﬁ%

ARE P ARG - ﬁéﬁiﬂmféfﬁ#’@ﬂ 92,0 T3 =
7 .y %k;m 95\"\%8\"mf”%’

—@ﬁﬁmé@#@ﬂJmﬁﬁﬁ o ?

(A) 385

(B) 3285

(C) 32895

(D) 328795

FAPt R L - T RT AP 8L 1TRF YRR T -
lg%%%mﬁgﬂ "A~B~C D B H =2 F 4R g

S AL FETEIRI0OAT TG A g3k B
= QP40 AT E4EI0A T Z o CAE Y £ E
BoF oDAE =0T E S
MLE PG R D

r = EE~T =

=R~ = QA &

C) 2= 10p@~" = 12 p

D) TE=EZIFI0A~T =410~

i’FﬁF\‘

71k 4 HLTE 70500000 7 4F 2K M EAAD o AT 5
30000mmagx B F AR - B EBORR L F S
B.1500 % cndf i pAB 0 — £ B 8 S M ?

(A) 2
(B) 13
(C) 16
(D) 29

2L(2,-5,3)F] T
(A) xzT o
(B) yz L&
(C) x #h
(D) yih

7 P BRI E?

lims_* " _»

n—o 6n

(A)

(B) 0

©

N[~ wlo

(D)

FwE AN+ +x=02 - L0142 > E'J—l + 1 =
w+1 w?+1

39

(A) w
(B) 1

©
(D)



14.

15.

16.

17.

18.

19.

%—ﬁbﬁ high g 108 53&@ ¥ ?,’t’;’ giigxgﬁgéﬁg

Ki=+-1> H'J[%+§i] =9

W -1+,

2

1 43,
(B) _E_7I

© L4953

2 2

1 3.
(D) §—7I

% xyz20 0 ¥ 3xy=5yz=72x » P2 YFZ o
X+y—-3z

(A) b

(B) 4

(©) 3

(D) 2

Fxfeyz Tio@cd 2.8 yfrzz T35#E 3.5 * 29vx
2T iafkH 3.8 Fx—y+z="?

(A 2.1

(B) 3.1

(©) 4.1

(D) 5.1

Exn Bl * |x+5|<7§ ’ |x—3|>2% v ATy x e ?

(A) -65
(B) -8
(C) 71
(D) -64

(A) d<a
(B) d<b
(C) b<a
(D) b=c

%200 % 300 2 FF >3 = By p Rl B9 Bo] dhlici
W3 RER P Wi A R R AR T R 2
B e L2

(A) 794

(B) 795

(C) 690

(D) 691

20.

21,

22,

23.

24,

25,

PRSI F(0) T deg F(x)28 0 Mx+lo x-10 2 H AR A
M3 -2 B (e D(x-D) ' F(0 2 AR S

(D) gX—%
(B) gx+%
(©) -2x-3
(D) —§x+%

¢ 5o A\OB=AxB—A:B - P 60©3+18= 9
(A) 0

(B) 27

(C) 34

(D) 36

BiEE 0 - BEAO2 A - FL02 4 - F 102 4 chi 2 4
RoP v SR IWERka B IS F o Ke 7
oI A Feg - XL T an?

(A) 1400

(B) 1800

(C) 2000

(D) 2400

T Baindh felied - B0 R o B g8
BA_ Rt P FLE T FITnl/5 0 2t £
B0~ e BB REIABIE £ FIT /3N R o X
Frr SRV R AT FR R KT
L9

(A) 170

(B) 210

() 230

(D) 310

% A=(24) * B=(m) » C=(64) > D=(n-3) » % A//B *
CLD > Bm+n="?

(A) 12

(B) -2

) 8

D) 2

F- Bz irE HE mEgF e mEF e 0Bk
F iAok d-REcy CERFE S RS O TIE S ik
s 180 vk Bt THFE R BT L HE
AR ez iR R Bt 2T o Rt Ecs?

(A) 385

(B) 387

(C) 358

(D) 356



